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 . 
Roll No.  

 
 

 
SOCIOLOGY 

 

   :  3     : 80 

Time allowed : 3 hours   Maximum Marks : 80 
 

  :  

 (i)     25  

 (ii)     

 (iii)   1 – 14  -        2         
 30        

 Series : SGN/C  62

SET – 4 

H$moS> Z§. 
Code No.  

   -  - 
    
Candidates must write the Code on 
the title page of the answer-book. 

       -    8   
 -            -  -    
       -  25    
         ,       
  -     15        -     10.15  

   10.15   10.30     -         
-       

 Please check that this question paper contains 8 printed pages. 
 Code number given on the right hand side of the question paper should be written on the 

title page of the answer-book by the candidate. 
 Please check that this question paper contains 25 questions. 
 Please write down the Serial Number of the question before attempting it. 
 15 minute time has been allotted to read this question paper. The question paper will be 

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 
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 (iv)   15 – 21  -        4        
  80        

 (v)   22 – 25   -        6       
   200           25      
     

General Instructions :  

 (i) There are 25 questions in all. 

 (ii) All questions are compulsory. 

 (iii) Questions no. 1-14 are short answer type questions carrying 2 marks each. Answer 
to each question should not exceed 30 words. 

 (iv) Questions no. 15-21 are long answer type questions carrying 4 marks each. 
Answer to each question should not exceed 80 words. 

 (v) Questions no. 22-25 are very long answer type questions carrying 6 marks each. 
Answer to each question should not exceed 200 words. Question no. 25 is to be 
answered on the basis of the passage given. 

 
 

1.         2 

 State any two features of Industrialization.  

 

2.        ? 2 

 What is the meaning of social movement ?  

 

3.      (points)    ? 2 

 State the points at which sanskritisation has been criticized. 

 

4.    ()            ? 2 

 How can a manager motivate the worker to produce more ?  

 

5.      ? 2 

 Who wrote Stree Purush Tulna ?  
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6.      ?  2 

 What are Transnational Corporations ?  

 

7.          ? 2 

 Urbanization and Industrialization are linked processes. How ?  

 

8. ‘’      ? 2 

 What is meant by ‘liberalization’ ?   

 

9.       ? 2 

 What do you understand by culture ? 

 

10.       ?      2 

 What are the basic assumptions of modernization ? Write any two.  

 

11.      ? 2 

 What does Globalization refer to ?  

 

12.       ? 2 

 What are basic features of capitalism ?  

 

13.        2 

 Give the meaning Representative Democracy. 

 

14.        ? 2 

 Caste is a closed class. How ?  
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15.              ?  4 

     

   -               

 Explain how the social resources are divided into three forms of capital.  

       OR  

 Examine the state and non-state initiatives to address tribe discrimination.  

 

16.          ? 4 

 How has colonialism impacted our country ? 

 

17.          4 

 Explain the Ecological movement, with examples.  

 

18.       -    4 

 Give an account of various powers and functions of Panchayats.  

 

19.            4 

 Differentiate between Western and Indian meaning of secularism.  

 

20.     ?         ?     4 

 What is a civil society ? How is it significant for the society ? Give example.  
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21.         4 

     

  ,              

   

 Explain commodification with examples.  

                            OR 

 Periodic markets are central feature of social and economic organization. Explain. 

 

22.           6 

 Critically explain the Malthusian theory of population growth.  

 

23.           ? 6 

 In what ways has Globalization affected the print media ?  

 

24.          6 

    

           

 Explain different types of families.  

                    OR 

 Explain the classification of tribal societies.  



62 6 C/1 

25.           : 6  

    

   ,                   

        ,          

                     

            ,     ,  

        

                ,  

                    

          40-46%       

                   

                  

                  

               -   

                   

         ,       

                   , 

..  ,      12%    ,      

     28%          1.03%  5%      

,            ,   18%       

       22.95 ...            

      ,       ,   6.6 

...      (    )   
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                   

      25%            

        (5.9 ..)             

      :   ,  7, 2017      

 ()                    

    2 

 ()                ?  

   ? 4 

 Read the passage and answer the following questions : 

The farmer’s cruel fate 

 We are staring, currently, at a period of record agrarian distress. Recently several 

thousand farmers marched to Delhi, across unions and political ideologies, to impress 

upon the government that their lives have been devastated by the whimsical and poorly 

thought out decisions of this government. It would have been a wake-up call for any 

other regime. But for a government intoxicated by its own hubris and with its priorities 

elsewhere, the valiant efforts were in vain.  

 Though it is impossible to summarise the myriad issues affecting farmers across the 

country, it is vital that we acquaint ourselves with their struggle. Farmer’s suicides 

have increased at an alarming rate. There has been a recorded increase of 40-46% in 

the number of farmer suicides across India. 

 Suffering farmers have adopted all sorts of mechanisms to try and catch the 

government’s attention. Farmers from Tamil Nadu have brought along skeletal 

remains of their kin who committed suicide. Peaceful farmers were forced to resort to 

loud protests in Mandsaur and were shot dead by an apathetic and cruel state 

government. Young children from Maharashtra who have lost their parents to suicides 

arrived in Delhi and waited patiently to be heard by the government. Not a single 

representative of the government bothered to acknowledge their presence, let alone 

grant them an audience.  
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 The government continues to pursue policies that are bizarrely anti-farmer. For one, 

under GST, tractors and other agricultural implements are taxed at 12%, with some of 

their components such as tyres and tubes being taxed at 28%. The tax on fertilizers has 

risen from 1.03% to 5%. Pesticides, which even a layman would attest are essential for 

farming, are taxed at 18%.  

 This year saw the highest ever domestic production of pulses at 22.95 MMT. This 

would have been sufficient to meet domestic demand but instead, in an example of 

gross maladministration, the government imported a record 6.6 MMT of pulses (at 

zero import duty no less). 

 This excessive supply led to a crash in prices affecting farmers and the domestic 

market. Separately in this same year, the government withdrew import duty on wheat 

from 25% to zero just as farmers were preparing to harvest their crop. This led to a 

massive increase in wheat imports (5.9 MT) from abroad crashing domestic prices.  

     Source : Times of India, December 7, 2017      

 (a) ‘Farmers’ suicides have increased at an alarming rate. Support the statement 

with suitable reasons.   

 (b) What were the techniques used by the farmers to capture the government’s 

attention ? What were its effects ?   

___________ 


